4 A Match emails 1-3 with replies a)-c).
1 ¢ 2 3

1
Hi Larissa,
Sorry you weren’t at my birthday lunch yesterday.

The weather was beautiful so lunch was in the garden.

Where were you?

Mark

2

Hi George,

Where were you and Maria yesterday? It was my birthday lunch,
at Mum and Dad’s house. Remember?

Mark

3

Hi Diana,

I was really happy that you and Alan were at my
birthday lunch yesterday. It was great to see you and
the children.

So sorry. We were in Spain on holiday, but we're home now.
Happy 30th birthday!

b)
Hi Mark,

Thank you for the party. It was really nice. Your parents are lovely
people, and their garden is lovely, too!

c)
Happy birthday one day late! Sorry, | was in London on business.
Let's meet soon!

B Put the words in the correct order to make questions.
1 Mark / Was / twenty?
Was Mark twenty?

2 house? / Mark’s / the / lunch / Was / at

3 lunch?/the /Was / Diana / at

4 the /and / children / Alan’s / at / Were / lunch / Diana?

5 France? / George / Maria / in / Were / and

6 weather/the / Was / good?

GRAMMAR |

PAST SIMPLE: WAS/WERE

C Write short answers to the
questions in Exercise 2A.

No, he wasn't.

1
2
3
4
5

6

D Look at the answers and write the
questions. Use the underlined words
to help.

1 Where was the lunch?

The lunch was at Mark’s parents’
house.

2

Mark’s birthday was yesterday.
3

Mark was thirty.
4

George and Maria were in Spain.
5

The lunch was in the garden
because it was good weather.

2 Write the sentences about Mark’s

party last year. Use the information
in brackets.

1 It's my thirtieth birthday. (29th)
Last year it was my 29th birthday

2 We're here. (not here)
Last year

3 My wife’s in London on business.
(Tokyo on business)
Last year

4 Larissa’s parents aren’t here. (not
here)
Last year

5 George and Maria are in Spain.
(Greece)

Last year

6 It's a small party. (big)
Last year

7 The weather’s beautiful. (terrible)
Last year

8 Lunchis in the garden. (in the
house)
Last year




| READING =&
2 A Read the text and match headings 1-5 with
paragraphs A-E.
1 Technology E
2 Family
3 Women

4 Transport
5 Population

A hundred years of change
A

Life in the year 2000
was very different
from life in 1900. In
! 1900 in
the USA, there

were three and a
half children in an
average family. The
top boy’s name was
John and the top
girl’s name was Mary. In 2 , the top names
were Jacob and Emily and there was only one child in
each family.

In2 , there were 54 million new cars on
the roads. In * , there were only 4,000
new cars. In cities transport was by horse and a small
number of buses.

C

The number of people in cities was very different.
with 6 million
was Tokyo with

London was the top city in ®
people. The top city in ©
27 million people.

D

Women'’s lives were very
different both at home and in
public. For example, in the

[ Olympics
there were 827 women

and 1,512 men, but in

> there were
1,319 men and only

19 women.

2 was the year

of the Kodak Brownie camera.
Letters were the only way

to communicate except for
telephones in some rich families.
Im° , email was
big and there were mobile
phones with cameras.

B Read the text again and complete the information
with 1900 or 2000.

VOCABULARY |

DATES

4. A Write the dates in words.

a) 2nd Apr the second of April

b) 11th Aug

c) 25th Dec

d) 8th Mar

e) 10th Jun

f) 1st Jan

g) 31st Oct

h) 1st May

i) 14th Feb

j) 4thul

E Number the dates in the correct order.

C [»] 7.1 Match the holidays with the dates from
Exercise 4A. Then listen and check.

1 New Year’s Day [ 6 Sonand

2 Valentine’s Day - Daughter’s Day
3 May Day T Christmas Day
4 Independence 8 Children’s Day
Day (USA) o 9 Children’s Book
5 International Day
Women'’s Day __ 10 Halloween
WRITING |
PUNCTUATION REVIEW

5 A Correct the texts. Use four full stops (), three
commas (,), one question mark (?) and one
exclamation mark (!).

World Hello Day is on 21st november every
year Say ‘hello’ to ten people on the bus on
the train at work at school and in the street.
try it this year It’s so easy

In the USA, the Sunday after 7th September is
grandparents’ Day. it’s a great day to visit your
grandparents or to go out with them why
Because they’re your grandparents

B Change five letters to capital letters.

21st of rovember November

C Write about a special day in your country.




VOCABULARY

LISTENING

2A Complete the quiz.

ACTIONS

L A Read the clues and complete the crossword.

2 R Animals are amazing! They walk for days, find
the way home and some even speak!
. A 1 Every winter, an Emperor penguin walks:
v a) 10-20 kilometres
. b) 30-60 kilometres
. - c) 50-120 kilometres
L 2 A black and white cat named Tom was lost
and travelled in a plane for:
R a) two weeks
b) two months
c) two years
3 Another amazing cat named Tom walked:
. a) 4,000 kilometres
b) 5,000 kilometres
c) 6,000 kilometres
4 Inits lifetime,acowgives ____ glasses
of milk.
3 a) 50,000 b) 100,000 c) 200,000
5 Talking parrots know about ten to twenty
Acrass w,or_d:s, but ?ne famous African grey parrot,
21 new food every day. N'kisi, used:
3 We home every year. a) 150 words b) 450 words c¢) 950 words
4 Doyou tennis?
6 | the day with breakfast.
8 Idon't drive to work - |
9 Itisonly 2p.m.Don’t work!
Down
1 How do you to work?
5 We in London at three o'clock.
7 Shh!Don't - I'm on the phone!
8 I'm not ready. Please for me.
B [»] 7.2 Listen to the verbs in Exercise 1A and
write:
1 one action with the sound in who and room
move

2 two actions with the sound in cake and day

3 two actions with the sound in four and door B [2]7.3 Listen and check.

C Listen again and match 1-5 with a)-e).
1 Emperor penguins,  a) sometimes live 25 years.

4 two actions with the sound in like and [

- - - 2 Tomthecat (UK) |  b)wasina testin 2004.
5 one action with the sound in car and father & Tomrthe cat [USA) \ o) travelled 800,000
\\\ kilometres.
6 one action with the sound in have and happy & tows ) are very big.
5 N'kisi the parrot e) travelled for two years.

7 one action with the sound in shop and coffee




GRAMMAR ) 4 A Write the past forms of the verbs.

PAST SIMPLE: REGULAR VERBS 1 live lived
2 close
3A Complete the story of Jean. Use the past simple form of the 3 open
verbs in the box. 4 listen
stop arrive live want (x2) like wait visit 5 look
stay walk help talk 6 sludy
7 email
In 2000, Jean Beliveau was 45 years old. He had a lot of problems 8 text
with his job, sohe! stopped  work. He? to go 9 stop
on a journey, but not with a bus or a train. He * 10 answer
to walk. Jean * in Montreal, Canada, so he
5 from Montreal to Atlanta in the USA. He was very B [F] 7.4 Listen and write the past forms
happy when he ¢ .He? Wa[king, so he from Exercise 4A in the correct group.
continued.
Jean 8 64 countries in 11 years. He ° to /t/ danced
different people in every country and he often?® in
their homes. Sometimes he was tired, but he didn’t stop. Jean’s
wife 11 for him. She 2 him on his
journey with money and messages. Jean walked around the world.
When he arrived home in 2011 he was 56 years old. His family
was very happy to see him again.
B Correct the information. /d/ moved
1 Jean Beliveau started work in 2000. lived
He didn’t start work in 2000. He stopped work.
2 Jean wanted to stay at home.
3 Jean travelled by bus.
4 Jean lived in Atlanta in the USA.
/1d/ started
5 He worked in people’s homes.
6 Jean’s wife hated him.

C Add the verbs to the table in Exercise 4B.
worked

wanted

asked

played

repeated

6 watched

Ui N WN =

D [») 7.5 Listen and check. Then listen and
repeat.




VOCABULARY ,

ADJECTIVES

L A Put the letters in the correct order
to make adjectives. The first letter is
underlined.

tiniergents

aterg

brreelit

waflu

onbrig

oilicedus

atticfans

bda nto

lal girth

ton yrve dogo

interesting
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2 Read the reviews and write hotel (H),
film (F), restaurant (R) or concert (C).

1
D food and
fi waiters!

The best Japanese in town.

3

The first ten minutes is
g , but then it's really
b for ninety minutes.

Theactingist

C Cover the words in Exercise 1A. Complete
the reviews with the correct adjectives.

FUNCTION

ASKING FOR AND GIVING OPINIONS

2 Put the words in the box in the correct places in the

conversation.

5 wasn't was Was concert ‘re It awful good

’

5

A: Hello, Helene. How / the party?
B: It's not very.

A: Why not?

B: There’s no music and no food. It’s!
A: Who's there?

B: Well, three people - all students.

They boring. Where are you?

>

: I'm at home, but
| was at a rock.

: How it?
: was interesting.

: Interesting? it good?

> W > W

: Well, no - it very good.

LEARN TO 7

SHOW FEELINGS

3A [F) 7.6 Listen to the conversations and circle the correct

adjectives.

1 interesting(delicious>

2 terrible/fantastic
3 great/not bad

4 not very good/all right
5 delicious/awful

B [F] 7.7 Listen and check. Then listen and repeat.




